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e Please check that this question paper contains 32 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 42 questions.
e Please write down the serial number of the question before attempting it.

e 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question
paper only and will not write any answer on the answer-script during this period.
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(vii)  Question numbers 20 to 24 in Section-A are five marks questions.

These are to be answered in about 70 words each.

(viii) Question numbers 25 to 42 in Section-B are multiple choice
questions based on practical skills. Each question is a one mark
question. You are to select one most appropriate response out of the

four provided to you.

qmr-3
Section-A
1. mgﬁﬁmﬁﬁaﬁﬂﬁﬁﬁmﬁxﬁfmm%aﬂ{wwm%? 1
How many vertical columns are there in the modern periodic table and what
are they called ?
2. ST Sgwed w1 87 1

What is speciation?

3. Sa-frefmit A sra-TreeiE SfiTEl 4 gue FEAE § w0 e
=gy ? 1

Why should biodegradable and non-biodegradable wastes be discarded in

two separate dust bins ?

4 ““Hfis e R 919 Sl ¥ SE] Td 39 dafaat § TOrgE s e HHE
B 21" 38wy 1 g Fife 2

“The chromosomes number of the sexually reproducing parents and their

offspring is the same.” Justify this statement.

31/11 3 [P.T.O.
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31/11

ol oft mrem & g3 i % SR e st w1y R e g
wor 3 wR frt At 21”7 5w g & R amitea v e et
difeg|

“A ray of light incident on a rectangular glass slab immersed in any
medium emerges parallel to itself.” Draw labelled ray diagram to justify the
statement.

T W AT Hici=ai i ierdt # ey sufiet # srafea 2 Yea § 9
3 gense e g St 5t 7 agfa & 6 it w1 egwE fuer
et % fer afe & |

We often observe domestic waste decomposing in the bylanes of residential
colonies. Suggest ways to make people realise that the improper disposal

of waste is harmful to the environment.

TSI SR R ST SRV & werg 21 AT o g ST I ST iR

List and explain any two advantages associated with water harvesting at

community level.

WIHATE I SR Wiz H,S0, 443 K 9 7 50 T a vt H1res =61 1 g
IHEHT G- @%%Q|wwﬁ&mﬁmligaﬂqﬁa@ﬂmmﬁml
B arett sl =1 e e wiem fafiay

Write the name and the structural formula of the compound formed when
ethanol is heated at 443 K with excess of conc. H,SO,.. State the role of

conc. H;SOy in this reaction. Write chemical equation for the reaction.
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%a}mwmﬁ%m@%@qwaﬁﬁﬁﬁ%mwﬁaﬂm
aﬁﬁqﬁm(i)%muﬁ{ii)mwuﬁﬁﬂﬁﬁm%i 3

Why homologous series of carbon compounds are so called? Write
chemical formula of two consecutive members of a homologous series and
state the part of these compounds that determines their (i) physical
properties, and (ii) chemical properties.

10. #%mgﬁmmﬁﬁwﬂ%ﬁaaﬁqm%: 3
aBe, oFe, 14Si, 19K, 5,Ca

(i) ﬁﬁ%%ﬁagﬁqﬁﬁmmﬁwsﬁaﬁq%ﬁmmaﬁm
Sera T T g

(ii) Haﬁiﬁﬁmw%éﬁﬁﬁﬁmmﬂmam%ﬁm

(iii) ﬁaﬁﬁﬂ@waﬁﬁ%aﬁﬁagﬁmﬁﬁﬁaﬁﬁmq!w
RESECE S

Given below are some elements of the modern periodic table :

aBe, oFe, 148i, 19K, 5Ca

(1)  Select the element that has one electron in the outermost shell and

write its electronic configuration.

(i)  Select two elements that belong to the same group. Give reason for

your answer,

(iii)  Select two elements that belong to the same period. Which one of

the two has bigger atomic size 7

31/1/1 5 [P.T.O.
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1. snyfe srad arvit § siat 1 gen fafiag) et amed # am @ 2rff st sm
TR et <h e qel enferen Toren 3 fihe R afed g 87 freh wg §
I ST 9t et St HE TSR G ST - T 1 e R TiEd g 27 3

Write the number of periods the modern periodic table has. How do the
valency and metallic character of elements vary on moving from left to
right in a period ? How do the valency and atomic size of elements vary

down a group ?

12.  (a) oA FeguEd (e ) afF o s fifm | 3
(b) YTREHEH 6l Wik e & PR uer fim 2 7

(a)  Explain the process of regeneration in Planaria,

(b)  How is regeneration different from reproduction ?

13. (i) 993%®, 991 (i) STEY] 9= 3 g0 €1 901 3-31 SR gEiE Ot ¥ A
W|Wﬁﬁq%mm#ﬁwﬁ$maﬁm%&ﬁm? 3

Write two examples each of sexually transmitted diseases caused by
(1) virus, (ii) bacteria. Explain how the transmission of such diseases be

prevented ?

14. ISl weoit o egEfies @eol § R w@ At @ Aowaet @
ferehTg; TSI | Sedieh S&01 =1 Uah JaTanr oft A1 | 3

Tabulate two distinguishing features between acquired traits and inherited

traits with one example of each.

31/1/1 6
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15, Tt Fasa Ry = fom A w1 € qun st (A 7 fran) § § R w oft
Toe o el 7@ s st wear | et e gy 3 fom frafor & it
=1 ZY a1t WaTg i <t g @ @ v i gfy Fifg ‘ 3

“The sex of a newborn child is a matter of chance and none of the parents
may be considered responsible for it.” Justify this statement with the help

of flow chart showing determination of sex of a newborn.

16. (i) 9v= T3 T9O0, A (i) DT g0 F 39 Ree S At 9 % ver @
IeeTE =TT | el WaheoT 3§ o I o 9 3 fore 2 ot B et @) 3

Mention the types of mirrors used as (i) rear view mirrors, (ii) shaving

mirrors. List two reasons to justify your answers in each case.

17. 6 cm =M &1 %1 favea 5 cm Biww i % FFell sraaer o) ¥ gEr o »
A W ¥ 10 om T W B B Sw-g # 3wl o0k S g S e
wfcrferear =t fevrfr, wmee wd st fauffa i 3

An object of height 6 cm is placed perpendicular to the principal axis of a
concave lens of focal length 5 cm. Use lens formula to determine the
position, size and nature of the image if the distance of the object from the

lens is 10 cm.

18.  gaiea /gt aun vet F wa g & v § o 21 1 Seotg BT Yo T
fore = i 3

State the difference in colours of the sun observed during sunrise/sunset

and noon. Give explanation for each.

31/1/1 7 [P.T.O.




19.

20.

21.

3N

(a)
(b)

(a)
(b)

(a)
(b)

()

(a)
(b)

(c)

(a)

(®)
(a)

(b)
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T R 87 §9% S W@ S 1 gl 9|

T I U e A%t T i, g srerstiawen St Fafid awrE
T I ST B @ | UH 1 8 =rea i |

What is an ecosystem ? List its two main components.

We do not clean ponds or lakes, but an aquarium needs to be cleaned

regularly. Explain.

“gareEe’ i aftam fEfEn |
forelt Afies formeet o1 93 C,H,O ® % 3 gwifad wwremal it we=
wieert 395 9™ fafau|

IR 2T ARt bt Ferag= - T wea Eifg|

Define the term ‘isomers’.

Draw two possible isomers of the compound with molecular formula

C;HsO and write their names.

Give the electron dot structures of the above two compounds.

S qun SR YR & 59 1 fadied % 9t i e (Eeane)
=i gt F R
ST Hifsre fo s s g1 Soae wata o Tt =1 foams 3dt 8 7

List three distinguishing features between sexual and asexual types

of reproduction.

Explain why variations are observed in the offsprings of sexually

reproducing organisms?
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22. (a) fRumfEd A B A1 C ! TE=T 3R 379 wi ferfiau
(b) ﬁﬁmmwﬁmﬁﬁﬁwawmﬁ%mmﬁﬁm

(a)  Identify A, B and C in the given diagram and write their functions.

(b)  Mention the role of gamete and zygote in sexually reproducing
organisms.

311 9 [P.T.O
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23.

24.

31/11

(a)

®)

(a)

(®)

(a)

(b)

(a)

T F UGG F Rl w1 Ioom fifvo) e wmeaw § P
AYSEH A9 TR 1 Frata § = F " g6y 51 el aen S
fetfiam |

1Y % W& S a1 FHI o AT FHAY: 4/3 91 3/2 §) AR F F
eI T =T 2%10° ms™' &, & (i) 91, (i) 9 § v = W
FHifery |

State the laws of refraction of light. Give an expression to relate the

absolute refractive index of a medium with speed of light in vacuum.

The refractive indices of water and glass with respect to air are 4/3

and 3/2 respectively. If the speed of light in glass is 2x10° ms™', find
the speed of light iri (i) air, (ii) water.

H13 M T FA1 & 50 om ¥ 9 g W Rod gHER 3 i 7€ ug
aran| 39 giE-3 w1 Aw fafey e gz sf e g m e
= % T s fomor e ifew) 38 < % &) dwifra st A
Tt =TeY | ot 3ugaa o ST SUART SEh T 51 w1 G e YR
o <11 whan &, 38 3w & fore fr et wifi)

TH GHTER UA UF Sefifae W 493 § vt g Yen 1 | R
= oo =1 wae fafian)

A person cannot read newspaper placed nearer than 50 cm from his
eyes. Name the defect of vision he is suffering from. Draw a ray
diagram to illustrate this defect. List its two possible causes, Draw a
ray diagram to show how this defect may be corrected using a lens

of appropriate focal length.

10
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(b) We see advertisements for eye donation on television or in

newspapers. Write the importance of such advertisements.

HT-o
Section-B

25. w1 oM e o waael # 2 mL WifE-re S wmE v g Siftam
TRGIM Faie firerar 2 | 98 Frfefias Sem s g - 1

. s geeeTee & w1y =i T8 9 9 T e |
I 3% 8 3 o ol 3 e o W3 gRm R a2 |

. = =% Jod 59 @ e & g o9 & o 32 79 e 3 oy
ERGIES

IV. %84, ST ol fouet gus rreh § w8 st 2 at 36 g3 8 |
T4 4w YT E

(A) I IL 3R 11

(B) I, II 3R IV

(C) ML IVsRI

(D) IV, 13RIl

31/1/1 11 [PT0.
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A student takes 2 mL acetic acid in a dry test tube and adds a pinch of

sodium hydrogen carbonate to it. He makes the following observations :
L A colourless and odourless gas evolves with a brisk effervescence.
II.  The gas turns lime water milky when passed through it.

[II. The gas burns with an explosion when a burning splinter is brought A

near it.

IV. The gas extinguishes the burning splinter that is brought near it.
The correct observations are : |

(A) L1II, and III

(B) I IMandIV

(C) NI IVandl

(D) IV,landIl

26. Wm#mﬁmwﬂ%ﬁmﬁﬁwﬁaﬁﬁﬁaﬁﬁw
el 3 S 2 mL Wi s s € | 98 T e T 2 mL S
mmﬁmm%lémﬁ%%%ﬁﬁmaﬁﬁh 1

(A) UEhfe st o Hew ge Sl 8
(B) Tareram g Gl T &1 71 € |

(C) T efifeen a7 & I8 WA T ¢
(D) Uefife o e & T8 WA @B

31/1/1 12
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In an experiment to study the properties of acetic acid a student takes about
2 mL of acetic acid in a dry test tube. He adds about 2 mL of water to it and

shakes the test tube well. He is likely to observe that :
(A) the acetic acid dissolves readily in water

(B) the solution becomes light orange

(C)  water floats over the surface of acetic acid

(D) acetic acid floats over the surface of water

27. Tt B 3w oo @ o W iw § 20% Hifean gegiegs foeEe =
6% 30 A iR Ty 5@ Se A= Ru T E | 1

I oifeam engieemnss TRwEi s I H 8|
. =g we i yite g s 2

M. STeR 8 g WA 381 Wdfld 2l 2 |

Iv. e femm d o feme =l gai g S8 fen A g |
7 T Y E -

(A) LIaII

(B) ILIIaIV

(© MHLIVEI]

(D) LILFIV

31/1/1 13 [P.T.O.
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A student prepared 20% sodium hydroxide solution in a beaker containing

water. The observations noted by him are given below.

L. Sodium hydroxide is in the form of pellets.

IL. It dissolves in water read_ily.

IlI.  The beaker appears cold when touched from outside.

IV.  The red litmus paper turns blue when dipped into the solution.

The corect observation are :
(A) I,IandIII

(B) II, Il and IV

(C) 1L IVandl

(D) LILandIV

28. Tom=feifias sl =1 eremam iR

L wrgHier stifean & sififsan-fasm & o forema o g8 w7z fien
Bl ST B 7T Ig St e &)

L TR arfvfsen % srffoman-faym & Hien forewa v gt wses @
H yitae & gan a9 98 Snadt il 2

L wegrtencor srffsean % sifirfrar-faso & oe forema v g mems @
# wfterd 72 B qur 77 S sl R '

IV.  wrgHrRr sifvfsear & srfufman-fem § o frerm v gal wees o
4 uftErde 7 2rar oo 78 S s # |

31/1/1 14
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31/11

IR FA A ATR FE:
(A) I7arl

(B) I@«nIll

(C) MaarIv

(D) ITAIIV

Read the following statements :

L

II.

I11.

IV.

When a red litmus paper is dipped into reaction mixture of a

saponification reaction, it turns blue and the reaction is exothermic.”

When a blue litmus paper is dipped into reaction mixture of a
saponification reaction, its colour does not change and the reaction is

exothermic.

When a red litmus paper is dipped into reaction mixture of a
saponification reaction, its colour does not change and the reaction is

endothermic.

When a blue litmus paper is dipped into reaction mixture of a
saponification reaction, its colour does not change and the reaction is

endothermic.

Which of the above statements are correct :

(A)
(B)
(©

(D)

Iand II
II and III
I[II and IV

[and IV

15 [P.T.O.
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forelt vt 1 T % T Srrevas HoR e TEe w1 YT § 3Ty T 2
g YAt 3 A fw T Iuerey # 1 3 @il i g et s A der
T SR 2 oA STervaeh IR STet & S |

29.

31/1/1

(1)
(3)
(5)
(A)
(B)
(©
(D)

Hfeaan aethe (2) wifsamaese

Ffeaay FeiEs (4) Orefirm aehe

HifeTm TrEgeH a1z (6) Erifamm Fmse
1,294

1,396

3,596

2,495

Hard water required for an experiment is not available in a school

laboratory. However, following salts are available in the laboratory. Select

the salts which may be dissolved in water to make it hard for the

experiment.

(1) Calcium Sulphate (2)  Sodium Sulphate

(3)  Calcium Chloride (4)  Potassium Sulphate
(5) Sodium Hydrogen Carbonate (6) Magnesium Chloride
(A) 1,2and4

(B) 1,3and6

(C) 3,5and6

(D) 2,4and5
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30. T om o i onfu srger e gt T wiatere T g X % E e
s* % oTA T | Al oS ) 3w g A gl 40 om B, @ Frefafed @ @ udt wed

Ea

fla——40 cl'n—._..—-—-;i

(A) I X 3ua o9 2, P wiea gt 20 em 21

(B) If X eae v & fywehl wiww gl 40 cm B 1

(C) Ffw X reract guvr & foreht ashar B2 40 cm 81

(D) R X I o & e $ia gl 40 om 2| 1

A student focussed the image of a distant object using a device ‘X’ on a
white screen ‘S’ as shown in the figure. If the distance of the screen from
the device is 40 cm, select the correct statement about the device.

— 4} cm_._.»1|

.

(A) The device X is a convex lens of focal length 20 cm.
(B) The device X is a concave mirror of focal length 40 cm.
(C) The device X is a concave mirror of radius of curvature 40 cm.

(D) The device X is a convex lens of focal length 40 cm.

31/1/1 17 [P.T.O.
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31. ol BT 3 st 2o gR wEreTe-Ae % o fR W wdt diwet ) saren
=1 eiteur et od o s e | oo i e gl w5 o TR otem A W e %
for frers weiem & 3@ weitvife sohiel et oo form ) vl =3 =1
o | 39 o it 31 w5 =Rt

(A) 39 dor il v ¥ g wEHE =Ry

(B)  3W YW I VST IS 1 3 G TR0 |

(C) 38w qu w3 ST <A1 o7 A I 7w foresr Y SR T IR
(D) 3 %A U< S & A T U e Y 3% e =Ry |

A student obtained a sharp image of a burning candle, placed at the
farther end of a laboratory table, on a screen using a concave mirror. For
getting better value of focal length of the mirror, the subject teacher
suggested him for focussing a well illuminated distant object. What should

the student do?
(A) He should move the mirror away from the screen.
(B) He should move the mirror slightly towards the screen.

(C) He should move the mirror as well as the screen towards the newly

selected object.

(D)  He should move only the screen towards the newly selected object.

= a]

31/1/1
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32, A fafvE smmaad ol o foTe e | e arelt s foror w6 o srfaa e
% gyaTa foReht BT 3 aegedt 3gese w1 - 7 Ffa o e 3 ol A e

= Tew 21gew arferst # e o _ 1
1 ' Fke Zi Zr Ze
1 300 20° 310
I 40° 250 40°
11 50° 31° 49°
TH T N E
(A) 1FII
(B) IIFIII
(C) 11

(D) LIIFII

After tracing the path of rays of light through a glass slab for three different
angles of incidence, a student measured the corresponding values angle of

refraction » and angle of emergence e and recorded them in the table given

below :
S. No. Pk | £r Ze
I Qe 20#° 31°
II 40° 25° 40°
III 50° 31° 49e
31/11 19 [P.T.O.
— —




33.

31/1/1

The correct observations are :

(A) TlandIl
(B) T andIIl
(C) TlandIIl

(D) 1,1 and I

¥ AT e Y T ATt e R o e gt R % T A
2t Trft sarEatt A GANE SIaEd S |l 87 1

™

(1) (11)

\@\ﬁ\l
i

B

P%

(1) av)

A I
(B) I

(C) I
D) IV

20
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Select from the following the best set-up for tracing the path of a ray of
light through a rectangular glass slab :

@ (II)

(111 (IV)
A 1
(B) 1
(© 1
(D) IV

31/1/1 Co21 IB.T:0,
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34.  wi= % Tew § Io 9l g B w1 gy sgifaa # % W e 91
TR Bt 3w et # smfie o aun fifa B ¥ gy 9 Reudn @

i | 1

ey (1)

X

(TIT) (IV)

&0 o f3Ror =51 UEl Y 3o e emE B
A) 1
(B) I
(€ 1

(D) 1V

31/111 22
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While performing the experiment to trace the path of a ray of light passing
through a glass prism, four students marked the incident ray and the

emergent ray in their diagrams in the manner shown below.

Y

The correct path of the rays has been shown by :

@A) 1

® I
(©
O

31/1/1 23 [P.T.O.
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3s. Wﬁw%ﬁﬁamﬁ%fﬁwﬂ‘aﬁﬁﬁm#wﬁmﬁﬁmﬁmmw
iR T 3 T & 5 o 7 e s s vk Ry

(A)  smafes foamor & wmmac 2
(B) o fomor % s 2
(C)  srarfeia oo 3 g 3
(D) mm#ﬁmﬁﬁsﬁﬁwmaﬁwaér

In an experiment to trace the path of a ray of light through a glass prism for
different values of angle of incidence a student would find that the

emergent ray :

(A)  is parallel to the incident ray
(B)  perpendicular to the incident ray
(C) s parallel to the refracted ray

(D)  bends at an angle to the direction of incident ray

311n 24
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36, P o sl = e fifs

i) /\\‘\

37 gt 1 gfv fi 3w ¥ IR % Tee v R a9y i
TR

(A) FEA I

(B) #HaA@IHII

(C) Lual

(D) LUEIV

31/1/1 25 REHQ.
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Study the following ray diagrams :

A

™ = U @\

The diagrams showing the correct path of the ray after passing through the
lens are : '
(A) Il and III only

(B) IandIIonly
(C) LIIandIll
(D) ILMandIV

311 26
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37. 3@ i el e uie smfaa Rt § @ o fiF RReT @ gl S sedT %
et =1 aTer T @ § 3T e suE 39w oW g 94 Wt i et e

FHA TSI a2 1
1
> F2
J i \\ =
(A) 1,233
(B) 2,394
(C) 3,495
(D) 1,294

Out of the five incident rays shown in the figure find the three rays that are
obeying the laws of refraction and may be used for locating the position of

image formed by a convex lens :

(A) 1,2and3
(B) 2,3and4
(C) 3,4and5
(D) 1,2and4
31/1/1 27 [P.T.O.
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38, o ¥ femvea % faftw =it ) freh wmee 1 e S 3 v foreft B A
#r feu e e Wi, <t Sfua wn § i feg o @

Do e

TR HE FAR :

(A) LV, IV,ILII
(B) LIILIV,V,II
(© LV,ILIV,II
(D) LIV,V,II,1I

A student after observing a slide showing different stages of binary fission

in Amoeba draws the following diagrams. However these diagrams are not

in proper sequence :
| (o) (#) (o= (== O
(I (1I) (III) (IV) (V)

The correct sequence is :
! (A) LV,IV,ILII
(B) LILIV,V,1I
(C) LV,ILIV,I
(D) LIV,V,ILII

31/1/1 28




39.

3NN

*fiee 8 gper =i itk % foT @t wom g

I.

I1.

I11.
IV.
(A)
(B)
©
(D)

naterials visit www.educationobserver.com/forum

g Tigerma 3 forelt fersty & s 2

firg e 21 Gk Ffwsi § fonfm 2 & o e 49 Team
T B At B

e & 9o 21 & 7 goet U o get o w2

el I3 Gopet g | 9o 81 e £ 79 98 T4 ofte a9 S 2
I, T& 101

I, mav

L IvVal

IV, 1911

Select the correct statements for the process of budding in yeast :

L

I1.

I11.

IV.

(A)
(B)
(©
(D)

A bud arises from a particular region on a parent body.

A parent cell divides into two daughter cells, here the parental
identity is lost.

Before detaching from the parent body a bud may form another bud.

A bud when detaches from the parent body grows into a new

individual.

I, IT and III
I, IIT and IV
III, TV and 1

IV,Iand II

29 |P.T:E




\/ WWW.eaucationopserver.com/torum

40.

3111

mﬁmﬁ%w;qﬁ%:@%ﬁmﬁ%wmﬁw%mﬁ
% fafim Freut =1 aremem Fif

[ e ao SRl Iet i ey ST E |

I e g o afgl & T s § gned I |

[ <% T qor S9ee! & UE sgel § aeed 3T E|

v, Toga ¥ e o SRR (ST ) o WA UTedt # THEy 3 E |

77wl fore # -
(A) 131

(B) NIV
(C) 1aII
(D) IIFIV

Study the different conclusions drawn by students of a class on the basis of

observations of preserved / available specimens of plants and animals.
L Potato and sweet potato are analogous organs in plants.

II. Wings of insects and wings of birds are homologous organs in
animals.

IIl. Wings of insects and wings of bats are analogous organs in animals.

IV. Thorns of citrus and tendrils of cucurbita are analogous organs in
plants.

The correct conclusions are :

(A) TandII
(B) HandIV
(C) IandIIl
(D) IlandIV
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(A)  SEE

(B) TSI AT ZHRT

(C)  ATeL a1 YTehtahdl

(D) IV T el

You have potato, carrot, radish, sweet potato, tomato and ginger bought

from the market in your jute bag. Identify two vegetables to represent the

correct homologous structures.
(A) Potato and tomato
(B) Carrot and tomato
| (C) Potato and sweet potato

(D) Carrot and radish
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42. ITWUMINEF A, B 9T C 9T AT 5 1

(A) 9T, Tetig o sftsry
(B) TR, Wig a1 frorqm
© g, s Ao i
(D) TR, =i qe wige

In the figure, the parts marked A, B and C are sequentially :

A

B C

(A)  Plumule, Radicle and Cotyledon
(B)  Radicle, Plumule and Cotyledon

(C)  Plumule, Cotyledon and Radicle

(D)  Radicle, Cotyledon and Plumule
|
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